SKILL INSTRUCTIONS SHEET PAGE: 1 of 5
MODEL: S6240, S6260, S6280

IMPORTANT - READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE.
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE AND ALL APPLICABLE LOCAL CODES, BY A PERSON FAMILIAR WITH THE
CONSTRUCTION AND OPERATION OF THE PRODUCT, AND THE HAZARDS INVOLVED. PROPER GROUNDING IS REQUIRED FOR SAFETY.

INSTALLATION WITH DIRECT FEED - REMOTE DRIVER (DF-REM)

A- PREPARE INSTALLATION SURFACE USING THE DIMENSIONS BELOW.

B- UNSCREW THE (4) SET SCREWS WITH AN ALLEN KEY (INCLUDED) TO REMOVE THE FIXTURE COVER FROM THE FIXTURE BASE.
DO NOT COMPLETELY REMOVE THE SET SCREWS.

C- INSERT WIRE THROUGH THE FIXTURE BASE LIQUIDTIGHT CONNECTOR (INCLUDED).
TO INSURE LIQUIDTIGHT SEAL, USE SHEATHED WIRES.

D- SECURE THE FIXTURE BASE TO THE SURFACE USING THE APPROPRIATE (2) SCREWS (NOT INCLUDED). (MAX #10 &3/16")

E- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING THE CONNECTION BLOC.

F- FASTEN THE FIXTURE COVER TO THE FIXTURE BASE WITH THE SET SCREWS USING AN ALLEN KEY (INCLUDED).

Al

SKILL SQUARE SKILL ROUND SKILL RECTANGLE
$6260 $6280 $6240
DRILLING 9.(2:5u
A HOLES B (234mm)
6.14" 6.95"
1.40" (156mm) 0.86" (176mm) 0.36"
(36mm) (22mm) (9mm)
’ ' f oo
§ 2.85 ) T
(723"“) a 1.37"
F—(A/Z)—» t ©n) (35mm)
oL 1.88" o
(48mm)
[B] [C+D+E] [F]
LED + |BLACK
LED- |RED

SCREWS
MAX #10 (@3/16")
(NOT INCLUDED)

NS

—,

~

05

\ &

FIXTURE COVER FIXTURE COVER

SET SCREWS LIQUID-TIGHT SET SCREWS
CONNECTOR
ALLEN KEY (INCLUDED) ALLEN KEY
(INCLUDED) (INCLUDED)
WIRE
CONNECTION
BLOC
INS-421 Last update: March 25, 2022 DM - R2

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.:514.523.1339 F.:514.525.6107 www.sistemalux.com



SKILL

MODEL: S6240, S6260, S6280

INSTRUCTIONS SHEET PAGE: 2 of 5

INSTALLATION WITH 4" JUNCTION BOX - REMOTE DRIVER (JB-REM)

A- PREPARE INSTALLATION SURFACE USING THE DIMENSIONS BELOW.
B- UNSCREW THE (4) SET SCREWS WITH AN ALLEN KEY (INCLUDED) TO REMOVE THE FIXTURE COVER FROM THE FIXTURE BASE.
DO NOT COMPLETELY REMOVE THE SET SCREWS.
C- INSTALL THE MOUNTING PLATE ON THE JUNCTION BOX USING (2) PHILLIPS SCREWS (NOT INCLUDED) AND PASS THE WIRES THROUGH.
D- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING WATERTIGHT CONNECTORS (NOT INCLUDED).
ONCE CONNECTED, PUSH WIRES BACK INTO THE JUNCTION BOX.
E- SECURE THE FIXTURE BASE TO THE MOUNTING PLATE USING THE (2) PHILLIPS SCREWS (8-32) (INCLUDED).
F- FASTEN THE FIXTURE COVER TO THE FIXTURE BASE WITH THE SET SCREWS USING AN ALLEN KEY (INCLUDED).

[A]
SKILL SQUARE SKILL ROUND SKILL RECTANGLE
56260 $6280 $6240
JUNCTION
BOX
(O |
' i K C}
2.87" T
(73mm) "
| o 2.28
f —_— (58mm)
CL
2.21" o
(56mm)
(8] [C+D+E] [F]
LED + |BLACK
s’l LED- |RED
FIXTURE BASE %
P O FIXTURE BASE -
> ©
MOUNTING FIXTURE ?
JUNCTION | PLATE BASE
BOX
el
[} ©
-
<8
FIXTURE COVER
SET SCREWS WATERTIGHT FIXTURE COVER
CONNECTORS SET SCREWS
ALLEN KEY (NOT INCLUDED)
(INCLUDED) ALLEN KEY
(INCLUDED)
PHILLIPS PHILLIPS SCREWS (8-32)
SCREWS (INCLUDED)
(NOT INCLUDED)
INS-421 Last update: March 25, 2022 DM - R2

SISTEMALUX

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.:514.523.1339 F.:514.525.6107 www.sistemalux.com



SKILL INSTRUCTIONS SHEET PAGE: 3 of 5
MODEL: S6240, S6260, S6280

INSTALLATION WITH 4" JUNCTION BOX - 120-277V (JB-UNV) DIMMING 0-10V (D10)

A- PREPARE INSTALLATION SURFACE USING THE DIMENSIONS BELOW.
B- UNSCREW THE (4) SET SCREWS WITH AN ALLEN KEY (INCLUDED) TO REMOVE THE FIXTURE COVER FROM THE FIXTURE BASE.
DO NOT COMPLETELY REMOVE THE SET SCREWS.
C- INSTALL THE MOUNTING PLATE ON THE JUNCTION BOX USING (2) PHILLIPS SCREWS (NOT INCLUDED) AND PASS THE WIRES THROUGH.
D- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING WATERTIGHT CONNECTORS (NOT INCLUDED).
ONCE CONNECTED, PUSH WIRES BACK INTO THE JUNCTION BOX.
E- SECURE THE FIXTURE BASE TO THE MOUNTING PLATE USING THE (2) PHILLIPS SCREWS (8-32) (INCLUDED).
F- FASTEN THE FIXTURE COVER TO THE FIXTURE BASE WITH THE SET SCREWS USING AN ALLEN KEY (INCLUDED).

[A]

SKILL SQUARE SKILL ROUND SKILL RECTANGLE
$6260 S$6280 $6240
JUNCTION
BOX
5 R
(O = i
! ¢ e}
2.87"
(73mm) T"
# o 2.28
f — v (58mm)
@ 221" o
(56mm)
[B] [C+D+E| [F]

WIRING DIAGRAM

- 120-277V FIXTURE BASE
LIVE DIM +
- firi

. N
. J{ GROUND|| ||} T
NEUTRAL [ (green) DIM -
(white) (gray or pink)
)

FIXTURE CABLES

H MOUNTING FIXTURE

% DIMMING
FIXTURE BASE 0-10V (DO1/ D10) %

JB%T(CTION " PLATE BASE
FIXTURE COVER
SET SCREWS FIXTURE COVER
SET SCREWS
ALLEN KEY 4
(INCLUDED) g ALLEN KEY
(INCLUDED)
BRANCH |
CIRCUIT
WATERTIGHT
CONNECTORS
(NOT INCLUDED)
22&&'{&2 PHILLIPS SCREWS (8-32)
(INCLUDED)
(NOT INCLUDED)
INS-421 Last update: March 25, 2022 DM - R2

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.:514.523.1339 F.:514.525.6107 www.sistemalux.com



SKILL

MODEL: S6240, S6260, S6280

INSTRUCTIONS SHEET PAGE: 4 of 5

INSTALLATION FLUSH MOUNT RECESSED WITH BACK BOX - REMOTE DRIVER (FM-REM)

A- USE NAILS (NOT INCLUDED) TO FIX THE BACK BOX MALE PART TO THE PLYWOOD.
B- ASSEMBLE THE BACK BOX MALE AND FEMALE PARTS TOGETHER USING SCREWS (NOT INCLUDED).
C- INSERT A CONDUIT (NOT INCLUDED) IN THE APPROPRIATE KNOCK OUT (SEE DIMENSIONS BELOW).

[A]
SKILL SQUARE BACK BOX SKILL ROUND BACK BOX
— PLYWOOD S6268 $6288
3 &
[cYe) ~ ]
0 (@) ——o—
) Oe
o8%" a9%"
— (0217mm) — 23 ‘ ‘ (@237mm) ‘ 23
(70mm) (70mm)
SKILL RECTANGLE BACK BOX
$6247
YoX E‘g. ®
o e () ——0m
® E Qe
11%"
o ]
NAILS (288mm)
(NOT INCLUDED) L MALE PART
Bl [l
2 1%" (3 32 mm)
CONDUIT 1" (J 25mm)
(NOT INCLUDED) @ 3/4" (@ 20mm)

SCREWS
(NOT INCLUDED)

— FEMALE PART

INS-421

— MALE PART

KNOCK-OUTS

Last update: March 25, 2022

DM - R2

SISTEMALUX

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.:514.523.1339 F.:514.525.6107 www.sistemalux.com



SKILL INSTRUCTIONS SHEET PAGE: 5 of 5
MODEL: S6240, S6260, S6280

INSTALLATION FLUSH MOUNT RECESSED WITH BACK BOX - REMOTE DRIVER (FM-REM)

D- POUR CONCRETE IN THE FORMWORK WHERE THE BACK BOX IS PLACED. WAIT FOR THE CONCRETE TO DRY.
WHEN REMOVING THE FORMWORK, PULL THE MALE PART OFF OF THE BACK BOX.

E- INSTALL (2) BALLSTUDS (INCLUDED) ON THE FIXTURE.

F- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING WATERTIGHT CONNECTORS (NOT INCLUDED).
PUSH THE FIXTURE IN THE BACK BOX UNTIL IT CLICKS IN PLACE.

(o] [El

CONCRETE MALE PART —

r PLYWOOD — BACKBOX

—n
- = BALLSTUD
L 4 (INCLUDED)
oy Y =

[F] MAINTENANCE

5+ TBLACK PLACE THE HOOKS ON EACH SIDE OF THE FIXTURE AND PULL
LED- |RED TO TAKE IT OUT.

BACK BOX

HOOKS

WIRES — FIXTURE

WATERTIGHT
— CONNECTORS
(NOT INCLUDED)

INS-421 Last update: March 25, 2022 DM - R2

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.:514.523.1339 F.:514.525.6107 www.sistemalux.com






